?zoﬁ Lems | %




BD‘H"L \/ic“‘on_,g

|> % I

o) ( z ) (%) P RS
M ue R>, cless I @&, 9%, 93 s.t.

[
e
O

No .

/

u, = 4,0 %90 tas0 = O
I‘F 3 Vectos Spen ]’,2:5 => s Veclos
o |
= thay e /Inwv? (el % basis.
(’ O |\ [Pemk £ Z

/5)=(8)*(3 555



Aus (’)/(—‘5')/ = %} &nu.a/? molepenchinct  fin IYZZ
No.

TA:. besis TICC hw\rc, 2 vichres.

K T hoe 3 G (relepandliil  Vickors flw;
Would  be o Lashs

[n ", the cn Le no sef dm ln lhﬂ Vw‘ms
F m>N .

If T (7 0(_,?_ 4 Q 4z st. 9., = ;“/5
%“2(5' 2 a‘(’)-}az(“}' ' (-é ’3’ %) 4,5-/5.4-5:/—7/5_




Shnw Pocd C:)v(}') Span IZ,'L.

U ~ (ﬁ;% a, (’, )—r az(”l'B

A -9z = 4 | ’Zt+’2z7 (I O U,+Uz—u,)

- Z
q' "'qZ - KZ O / uz-u’

(I' —',)(2\(;‘25 = ( /0 _;Hz_gg)

(, -1 Ul) o, l U, -u
I =
u,+u
'.ZZ'_‘Z_S(l -1 W \ = A5 ay= Yz U
B
0O 2 Uy y=["2\=> c‘,‘/, G,= 3



